)
’nl\w (%ﬁra ,‘ne?u@e{;tz') v vl X} Y N

—_—

ll Elxy] c NEGK) - JEN)

Equafﬂj .’.{ﬁ Xzo or Yz2 a5, oc X=AYq5.

——

W Ao gz aﬂa/luwcfa’, =)
0< EI(X—)Y)Z]
= £ (x) - 25 Elx) vEY]

5 Fxv) € 4- EOD ¢ 2 elv*).

2N
A AL At o o i &/ A= _________..JE’-M /fm—

Ophnize &= RHS iu A \FEF-)

&W e L A g uaty €D - Jervy .(ﬂ‘“‘u)

e —————

P

msw<3%;w'; ,‘u.e_7ud«’7-7>' Cq_/{: 4?; (G,’D"R @"» cereep QA Conmwex gLnCﬂbv\

acx,4<6, V@cacl
ie, 43(,\14-(1—,03)§;A4’('&)1‘(“r‘)4’(‘1) v 4<% \K:/_—)

\

Tz Thew Y v X feubeing valeer m (a,h),
\ $(EDA) ¢ E[$OO)

| e

‘———'--'-—'—

5 3 " 7(' :/wf— = 7( )
\ CoM;JM o sucporiﬂzj Cime 01[35 a po:):‘“x{u € [x

Ve K\ﬁ(?ﬂ/«)+k(1—/«)

' o [~ 6
B Conventty D (0 +klp) £ 90 -
S\.&)s&'\'\w‘& X=% oud Hoit oxf,(da.fr&\ e-/ Apﬂ» sy =>
@ (0 +k(gﬂ-ﬂ) ¢ ES(X).
et N
E'i)‘). \,._1‘:‘—‘2-‘/ D \




Eranpless . &%= EE¥)

€ .Qf[xl)“é £ (x*) Gv Vw(x)20>

g__;__f (L)’C"Puwov's iwz_cL.> \/ 2@51 )
(E)(Elxl]fs@@g £ [1xIF) Ypzi
@) (E[{xp’)'/" « (€ lxl")k1 Y 1< p<s

r(—i) Jemyen  for P(x )= (x]” E ‘ f
(i) Jenson for (0 =[xI" g "
ConV XHEIX(PJ;:

(IMP.%} = EIxI*. J

v
(Emf’) ‘2 E

¢

y Al v
Rowerk ,Qg,,qr) Y

§ gl

Y OUJ-C/" “
. ELXY) = <x,Y>€ wney @ro

<,
Thas (x ~Y £ MRl IXTs (
q esq (Gyapead

_éq_..



Mfc‘(’l'&fm 2 Review .

“Ln
@ (M An wurn covwlams ﬂ*‘=ﬂ::€‘_#ﬁ§= n miea“”( ™ (/“1( @'/&

/nd:j e wihdawn Eo ore of @ ﬁkuz/ w/> replacecnedd
EW (,Lh'{'f( ')Lc-t %\f.ﬂl g/aci Gl 2 C&:Sfu.
B oo M—e_ucpzéﬁe«( # sf ﬁjﬁ{ bells u,('}_'l:(;uwu,

—

A
— "N T — -~

- e
QREp . Wwewb ?OOOOOOOOQ °
- Xz4

i

X = #ohie G lly wlbhawm = §
- JL‘/ htbe Gff ¢ chowa befor oy {fact et

| o

/
Elx,) = P{ )(.,'—(} = |?( wlole Gl ¢ choyen gqﬁ:ne_ V"ﬁac{gf
- L each o{ wa{ fhert wa +l balls 13 zfuaﬁ%>
M| :
C‘«kzﬁ to ée o sen cardien )

E)( . ~nd Var (X )

—
—

L
@@OSS 373> SWOSC we (DV\JAMQ% ro{( « die u,qu,’( f(«(‘ L~
[ of <0l @ Jos exceefs O Whet s Juc meost Dikely valice

@/g ey b0 7\\)<

g‘a Condidroning ©= \1/:: {lee VCJ»LU’—"{ He Sum prnos (e 5";\3’ ovesr 100,

Value 4 X Poss bl Maf)( b 5_%53—-
qs & In {
q6 9!, 0 % eacl
q7 (0t 102 10> Yy @acl
[{o X2 © el lOZ,lO}/tOl/, (’E(O( \ ’/6 eack
— 0o £ €
pix=todl= :’éq;NX:(oO\‘f::} QfY::l,} - (- Ply=tss + 2.8¢ (=963 +3. REY=97) +-.. ré-lpf‘/'*/“l,
0‘1)(:!035:: SN - - ~ o~ = %—_95‘(::,;14-13—,[){.\(_—_“5,,,_ <L 2{¥ >we0)
Sllqu-'l‘/, ¥i 194, 195,24, Pns . 1O} 2 SMRaER!

— 65



Bonus Question (8 eztra points, no partial credit).

Suppose that, every year, the company’s fund is increased by 1 million dollars with proba-
bility 1/2 or decreased by 1 million dollars with probability 1/2. Every time the company
runs out of funds (i.e. the funds become zero), the government gives it a bail-out in the
amount of 1 million dollars. The initial company’s fund is & million dollars. Compute the
expected number of bail-outs needed to increase the company’s fund to N million dollars.

(Hint: Recall the Gambler’s Ruin Problem. That model is similar except the company is
allowed to go bankrupt if it runs out of funds. Recall that the probability to increase the
funds from k to N without going bankrupt in Gambler’s Ruin Problem ;}f k/N.)
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Bonus Question (8 extra points, no partial credit).

A coin is tossed. If it shows heads, you pay 2 dollars. If it shows tails, you spin a wheel
which gives the amount you win distributed uniformly between 0 and 10 dollars. Your
gain (or loss) is a random variable X. Find its distribution function, and compute the
probability that you win at least 5 dollars.

“For xc-2, Fy ()= P{xexf =0
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